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(ExsRENE]

EAERERK SEE b EHzE B5AA AEESE EHESH

£E | BiE | 2E FIE [we| Y17 %] 2E BIE [me| Y17 % ML 244 3 4 L 1 2fx 36 4fk

S39 7,974 2,691 — 2,028 — 3,114 793[—| 25.5

S40 7,859 2,752 — 1, 858| — — 4, 666 701[—| 15.0 - - = = = - - = =
S41 8,603| 2,703 — 2,600 — — 4, 260 1,162[—| 27.3 - - = - = - - = =
S42 8,633| 2,778 — 2,310(— — 2,874 605|—| 21.1 - - = - = - - = =
S43 8,084| 3,323 — 1,723| — — 1, 269 314[—| 24.7 - - = - = - - = =
S44 6,675 2,806 — 1,612|— — 1,678 448 —| 26.7 - - = - = - - = =
S45 4,693 1,903 — 1,114|— — 1, 000 479 —| 47.9 - - = - = — - -
S46 3,218| 1,765 3,218 943 1| 29.3 612 349 1| 57.0| FTE =F EIF K &k BE K =F ElR
S47 2,195 1,406 1, 848 1,568 1| 84.8 1, 480 1,205| 1| 8L.4| Zg K4 By =& HE BR Ko BF &k
S48 1,830| 1,330 1, 856 1,414 1| 76.2 2,088 1,443] 1] 69.1| i B Koy man F)I BB B KRS mus
S49 1,844| 1,346 2, 204 1,830 1| 83.0 2,248 1,821 1| 8L.0[ g K4y Bl REAR B BIR Ko BiR &k
S50 1,776 1,339 2,921 2,386 1| 81.7 3, 235 2,721 1| 84.1| TE R Ko 18 AE BB Koy Bl (2
S51 1,705 1,303 2,563 1,934| 1| 75.5 3, 832 3,119|—| 81.4| Z@ Koy BiR (8 e - - - -
S52 1,465 1,083 2,214 1,687 1| 76.2 4,107 3,354|—| 8L.7| TE K4y R & - - - -
S53 1,645 1,270 2,854 2,033 1f 71.2 3,316 2,494|—| 75.2| BE Koy B & e - - - -
S54 1,485 1,230 3,962 3,135 1| 79.1 4,677 3,480 —| 74.4| BiB B mem K4y B - - - -
S55 1,530| 1,265 4, 244 3,209 1f 77.7 7,802 6,516|—| 83.5| BB B K4y mis & - - = =
S56 1,639 1,364 4,218 3,351 1| 79.4 8,162 6,605(—| 80.9| BB R & Koy gEK - —  — —
S57 1,747 1,422 5,291 3,929 1| 74.3 8, 045 6,539 —| 81.3] FEF RIF & Koy = - - = =
S58 1,768 1,428 5,279 3,798 1| 71.9 8,513 6,874 —| 80.7| BB R & K4y =i BB ORI & Koy
S59 1,835 1,377 6, 192 4,584 1| 74.0| 11,671 9,411|—| 80.6| FiFE RIF @k Koy =i FR ORI S =
S60 1,861 1,420 7,676 5,833| 1| 76.0| 14,943 12,424|—| 83.1| FTIB R &k K4y =i B2 R S =
S61 1,797 1,360 6, 929 4,817| 1| 69.5 8,318 6,021|—| 72.4] FIF RIF K4 & =i FR R K4 man
S62 1,722| 1,323 7,145 5,801 1| 81.2 8,310 6,305|—| 75.9] EiE RIF =FH Koy mi  BR B Ko &
S63 1,699| 1,315 9,115 7,072 1| 77.6[ 10,992 8,593|—| 78.2| EE RIF K4 man =i FIE RIG K5 &
H1 1,456 1,064 9,388 7,504 1| 79.9| 11,413 9,366 1| 82.1| BB R K4 & =i BB ORI &k =]
H 2 1,432 1,060 9, 005 7,074| 1| 78.6| 13,206 10,610| 1| 80.3| ZB R =i Ko BBA BB RE K9 &
H3 1,446| 1,044 9, 447 7,442 1| 78.8| 13,792| 10,940| 1| 79.3| FTE Rl K4 EmE =i IR RIG K5 &
H 4 1,431 1,023 9,476 7,426 1| 78.4| 14,047 11,195 1| 79.7| B R Koy ZE w0 BE RIE K &
Hb5 1,442| 1,020 8,293 5,628 1| 67.9] 12,681 8,946| 1| 70.5| FT®’ K4 Rl && =i FIE RIG K5 &
H6 1,587| 1,024 8,110 5,555| 1| 68.5] 12,104 8,400 1| 69.4| TR Ko R & —H BE R Ko &
H7 1,417 1,009 7,958 5,410| 1| 68.0] 11,472 7,582| 1| 66.1| BB Koy B &k =@ BE Ko RE &
H8 1, 366 987 5,416 3,306| 1| 61.0 6, 860 3,401 1| 49.6| BER R Koy &k =&FE  BER Ko R mkRb
H9 1,329 959 3, 258 1,722| 1] 52.9 5, 454 1,955| 1| 35.8] E#E Ry =& Ko mA BE R =& &k
H10 1,410 894 3,206 1,552 1| 48.4 3, 989 1,534 1| 38.5| B® ElF —&E mH B BB BF =& =F
H11 1,133 825 2,403 1,172| 1| 48.8 3, 389 1,469 1| 43.3| ZE#B R —&F mH =2 BB RE -5 TG
H12 1,061 771 2,653 1,665| 1| 62.8 3,061 2,017 1| 65.9] BB R EW =FE Ky BE B OEK &
H13 979 703 2, 068 1,112| 1| 53.8 1, 764 950 1| 53.9] BB R =W ZE S B BN SN &4
H14 842 636 1,877 1,187 1| 3.2 1,618 1,014 1] 62.7| ZTiB ElF &% men =&  BR B Ren 540
H15 810 552 1,772 1,264 1| 71.3 1,498 1,077 1| 71.9| BB B ma —E mes BB R &4 —H
H16 654 498 1,418 1,002| 1| 70.7 1,239 884 1| 71.3| BB R —E &M x  BE REH -& x
H17 584 445 1,509 1,094 1| 72.5 1, 303 979 1| 75.1| BB R =& & x B RIG =& &
H18 550 414 1,797 1,256 1| 69.9 1, 644 1,184 1| 72.0| BB FIF ma —E men BB B &% —H
H19 — 410 1,623 1,231| 1| 75.8 1,527 1,180 1| 77.3| BB B K x  x  BR B KS x
H20 742 387 1, 300 946 1| 72.8 1,234 907| 1| 73.5| BB R —E x x BE EH -H x
H21 — 363 943 690 1| 73.2 707 454 1| 64.2] B2 R mE o x x BB B &4 x
H22 — 305 892 722] 1| 80.9 740 5271 1] 71.2| BB R x x x BB EK x x
H23 — 284 1,037 838 1| 80.8 943 766| 1| 81.2| BB ER x x x BB EK x x
H24 — 264 1,134 981| 1| 86.5 947 824 1| 87.0] BB EWK x x x BEEH x x
H25 519 249 972 806 1| 82.9 794 677| 1| 85.3] BB EWK —E x x BE EH —H x
H26 — 253 999 796| 1| 79.7 897 765 1] 85.3| BB EIR —H x x BB EK -FE x
H27 — 230 1,107 930 1| 84.0 1, 098 958| 1| 87.2| BB R —E x x BE EH —H x
H28 — 232 1, 369 1,200 1| 87.7 1,592 1,458 1| 91.6| Zd® Eliy —&FH x x BE EF —#H x
H29 — 228 1,411 1,242| 1| 88.0 1,536 1,422 1| 92.6| Z® Eliy ma x  x  BE B & x
H30 405 222 1,247 1,055 1| 84.6 1,345 1,184) 1] 88.0| BB R mam = x  BE ORI ZE &
R1 — 218 967 832 1| 86.0 1,146 1,065| 1| 92.9| Z#E Ry &k = x  BR R s =
R2 — 217 582 407| 1| 69.9 578 456 1| 78.9] B2 R e = x  BE B =E S
R3 — 215 539 356| 1| 66.0 604 482| 1| 79.8| BB R man = x  BE ORI ZE &
R4 — 208 458 277] 1| 60.5 577 4211 1] 73.0] BB R x  9x  x BB EWKF x  x
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